g

400-080-7688
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1. #HARHIE:
D HAREK:
FRERZY 0.1g HABEARIAGFEASH, IIN ImL REUKR, 7EK E#HFTEK, 12000rpm, 4°CH=RH
10> 10min, BX_E7E&FEN
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B0 10min, H EE, BKEFN.
i) . FEMERE, TiREBARE/ABRKE (109 : 2EG& (mL) 9 500~1000: 1 AYELHI#ITIRE.
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gH= | 120 | 120 | 120
BY, =B (25°C) BENIFEE 60min, BLIREEBE ImL thE
M 510nm 4EEEEE A B (EEF] 2min A A ERUARBIT 0.05) .
L] BNZENAEKRT |, UBEHAATHE (REIEHE) SURDHEAMFE VI (WEE 20uL, ML
FZAEREAN) | BRMEED HHAE VI BFRATEARNERTE.

R HRIUHE:

1 EHARETE:

3-BEERH O (umol/g FE)=(C FRfEXV2) x(A TE-A ZE)(A FRA-A ZE)(WxVI=V) xD

=4x(A A ZE) (A FRE-A ZE) wWD

3B E (g EE)=(C FORAV2) <(A A ZE) (A A ZEA)(WHVIV) D

=864.16%(A W-A ZE)(A FRRE-A ZE) ~WD

2. BT
3-BEER EDH(umol/ 10 cell)=(C FRAEXV2) x(A TUFE-A 23 ) (A FOfE-A 2 F)+(500xV1+V) xD
—4x(A JUTE-A ZE)HA FAE-A ) +500xD
3-BEB (e 10° cell)=(C FRAEXV2) x(A TUR-A 22 () (A FAE-A 22 1)+(500xV1=V) xD
=864.16X(A JUE-A E)+(A F7A-A ) +500xD
3. SRR RA B
3B HH(mmol/L)=(C ARAXV2) x(A TFE-A T E)(A FfE-A TE)VIxD
—4x(A JUFE-A TE)A FTA-A FE) XD
3B R(g/mL)=(C FRAEXV2) X(A TUE-A ZE)-(A FOE-A 2 ) VIxD
=864.16%(A JUTE-A ZF)+(A F7ME-A () xD

C $rAE---4mmol/L=4umol/mL=864.16pug/mL; V---1BEU&ARFR, 1mL;

VI--HARMAAER, 0.03mL; V2 FRAERIAGIR, 0.03mL;
500---RIEE, 7; D--- TR EEL AR |

W ABHRE, g

IR AR RS T G
www.adsbio.cn < A ——————=,



